VIDEO TRANSCRIPTION: JESSICA’S CLASS
Teacher: Say it one more time Arwin

Student: | can’t believe that it when | have no numbers | can’t understand it. when | have numbers | can
understand it

T: That’s a good question. Can you understand a story problem if you don’t have the numbers?
S: no, yes.
T: Primly why do you say yes?

S: Even though it doesn’t have any numbers sometimes if it has the words like “If Annie had so many
pieces of bread” so if it has the words it can still help you out, so it doesn’t need to have the numbers.

T: Ok so it doesn’t need the numbers because the words can help you out? That’s interesting. Mason

S: 1 agree with Primly cause | didn’t understand the first part because it doesn’t really matter if it has the
numbers because you can probably find it out if you read the words

T: What will you be able to figure out
S: you'll be a better mathematician if you don’t use the numbers to help you

T: because boys and girls in the change plus change minus problems that we were just talking about
what’s the important thing we need to find out. We need to find out if a change is happening and if we
need to do what? does anyone remember? Alicia

S: add or subtract

T: If we can add or subtract. by reading this problem could we figure out how to add or subtract? That’s
a question. Raise your hand. Evee?

S: Well | read this and this said how many beans did she have left so just by reading the sentence
without the numbers you could also find out if it’s going to be a subtraction or an add.

T: did everyone understand what Evee was saying? can someone say exactly what Evee said? Tanner
what did she say?

S: If you don’t have the numbers you can you still know if it is a subtraction equation or an adding
equation

T: Ya by using what, what things did she say to use?

S: the story



T: well the story and she pointed out some very specific parts so you’re exactly right. Let’s go ahead and
read this problem. I’'m going to read it, and then we’re all going to read it together and then I’'m going to
give you just a minute of think time to think how you are maybe going to solve this problem. be ready to
talk about that. Elnia had blank beads she used blank of them to make a bracelet how many beads does
she have left? So let’s read it all together.

T&S: Elnia had blank beads she used blank of them to make a bracelet how many beads does she have
left?

T: let’s just give everyone a chance to think about this. Raise your hand if you’re starting to form a plan
in your head of how you’re going to solve this. Once you’ve kind of thought about what it’s saying go
ahead and raise your hand if you have a way to solve this or what it's saying. What kind of strategies
and what do you notice in the problem? How are you going to know to do that. What helped you? Kind
of what Evee already said. she had a great start. Jalynn | haven’t heard from you

S: How many beans and so you can put the number of beans so like . She had 5 beans. She used 3 beans
up. How many does she have left? which would be 8.

T: Ok. Bo?

S: | think you're trying to add on. Cause if she took 3 of them then you only have 2 left. see if you had 5
and you took away 3 it would be 2 and 2 plus 3 equals 5 and | think you’re adding on

T: and why would you not add on in this problem Bo? what are you thinking
S: Because it says she used not | bought more

T: Boys and girls | want you to go ahead and solve this problem.
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